Name: Date:

Teacher: Class:

Addition 506

I How do you catch a squirrel? Climb into a tree and act like
a nut.

Add these numbers to find the total.

305 % 686 * 343 4 574 > 667 © 996
+ 577 + 573 + 455 + 675 + 634 + 96

7 567 & 228 % 605 10 128 L 840 12 240
+ 252  +821  +131  +439  + 86 + 337

13 561 4 205 15 234 1 201 17 980 18 253
+ 969  +607 +104 +459  +591  + 993

19 221 2 451 2. 874 22 657 2 807 2 871
+398  +618  +228  + 664  + 441  + 492

5. 247 % 426 2 507 28 138 2 266 3 119
+ 760  + 445  +888  +408  + 699  + 469

. 957 ¥ 570 ¥ 199 3# 701 B 382 3B 759
+218 +938  +912  +776  +333  + 593

. 907 ¥ 990 3 557 O 724
+ 571  +561  + 283  + 451

© Facilitators Ferriswheel WS#:Add506 Score:



Answer Key Date:

Teacher: Class:

Addition 506

How do you catch a squirrel? Climb into a tree and act like
a nut.

Add these numbers to find the total.

305 % 686 * 343 4 574 > 667 © 996
+ 577 + 573 + 455 + 675 + 634 + 96

882 1,259 /98 1,249 1,301 1,092

. be7y & 228 ° 605 1o 128 1 840 = 240
+ 252 + 821 + 131 + 439 + 86 + 337
819 1,049 /36 o967 926 o7 7

13 561 4 205 15 234 1 201 17 980 18 253
+ 969  +607 +104 +459  +591  + 993

1,530 902 338 660 1,571 1,246

19 221 2 451 2. 874 22 657 2 807 2 871
+398  +618  +228  + 664  + 441  + 492

619 1,069 1,102 1,321 1,248 1,363

5. 247 % 426 ¥ 507 28 138 2 266 30 119
+ 760 + 445 + 888 + 408 + 699 + 469

1,007 871 1,395 o946 965 588

. 957 ¥ 570 ¥ 199 3# 701 B 382 3B 759
+218 +938  +912  +776  +333  + 593

1,175 1,508 1,111 1,477 /15 1,352

. 907 ¥ 990 3 557 O 724
+ 571  +561  + 283  + 451

1,478 1,551 840 1,175

© Facilitators Ferriswheel WS#:Add506 Score:



